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160421: x102 sbn runs after painting

TR K KX KKK KKK KKK K KX

|

I

I %

*

[@N

! D
o o 0 8
‘\\\\\@\\\‘\\\(]P\\\\\‘\4\\\\\\\‘\\\\\\\\\‘

)

—-300 —200 —100 0 100 200 300
feed_west(rising) FEET  feed_east(setting)

d\sl



+B0618+145
*BO&MML}
QE) 039+0:;:
ABW2W8+3
O0B1328+ 3@
“B1615+2 2
XB18434+098

Tsys [K]

AvgBmWidth [aSec]

SEFD [Jy/Tsys]
N

14

12

10

8

40

35

30

25

20

15

150

140

130

120

110

100

160421: x102 sbn runs after painting Gain K/Jy
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160421: x102 sbn runs after painting Coma
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160421: x102 sbn runs after painting za error vs za
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160421: x102 sbn runs after painting az,za errors vs time
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